Attica Intermediate Classical Greek

II.

Exercise One Key

Form Identification. Identify the following forms. List all possibilities.

1. doovgovg: acc. pl. m. of poovdg, -ov, 6

2. aménepmnev: 34 sing. imperf. act. ind. of amoméunw

3. épuyov: 1%t sing./3 pl. aor. act. ind. of pevyw

4. elvaw: pres. inf. of eipt

5. mEOdOVTES: nom./voc. pl. m. aor. act. part. of mEOddwWLL

6. aoPaAewxv: acc. sing. f. of dopaAewn, -ag, 1

7. naporyyéAAwv: nom./voc. sing. m. pres. act. part. of magayyEéAAw
8. dvtagc: acc. pl. m. pres. part. of eipl

9. amoxwoat: aor. act. inf. of aAmoxwvvuL)

10. ovvepaxovv: 1st sing./31 pl. imperf. act. ind. of cuppaxéw

11. amoOvnokovtwv: gen. pl. m./n. pres. act. part. of drmoOvijokw
12. ntoAeu: dat. sing. f. of TOALS, -ewg, 1)

13. émeAeAotmer: 31 sing. pluperf. act. ind. of énmiAeinw

14. teixn: nom./acc./voc. pl. n. of Tetxog, -ovg, 16

15. tévat pres. inf. of i

16. ¢oeoBac fut. (mid.) inf. of el

17. OPouv: acc. sing. f. of BPoLG, -ewg, 1

18. attia: dat. sing. f. of altia, -ag, 1 or aitiog, -&, -ov

19. noav: 34 pl. imperf. ind. of eiut

20. ovAAeywot: 3+ pl. aor. pass. subjunc. of cLAAéyw

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the dictionary in the back of this textbook.

1. idot: 6paw, dopay, eidov, édara/édpaka, Ewpapat/Oupal adponv; see
&yévovrto: ylyvouat, Yevrjoopal, £€yevouny, Yéyova, yeyévnuoal éyeviionv; happen,
occur, arise; become, be

3. Kateotoato: kabiotnu, kataotow, katéotnoa (trans.)/katéotnyv (intrans.),
kaOéotnka, ---, kateotaOny; establish, place, set (as guards); settle; be, come, arrive, be
established (intrans.)

4. aducopévng: apkvéopal, apiopal, dwouny, ---, dptypat, ---; arrive

5. VUKTOG: VOE, VUKTOG, 1); night

6. £€dofe: dokéw, DOEwW, Edoa, ---, DédoyUaL, -edOXONV; seem, appear; seem best, seem right,
be decided

7. TTOQEOLV: ATOREW, ATIOQNOW, T)TIOQNOQ, T)TIOQTKA, NTOETLLAL, 1)Tt0eNO1V; be at a loss, be
in doubt about

8. naBelv: maoxw, Teloopal, émabov, ménovOa, ---, --- : experience, suffer

9. NodlkovV: adKéw, AdIKNOw, NdlkNoa, NOkNKa, NdikNUaL 1O ONV; be unjust, do injury,
injure, do wrong

10. Emeppav: Téunw, Mépuw, Eneppa, mEMopda, mémeppal ETéudOnv: send

11. neloeoOal: maoxw, meioopat, énabov, MénovOa, ---, --- ; experience, suffer and meibw,

nelow, Enewoa, émeka/ménola, émelopal, EmeloOnv; urge, persuade; obey
12. émeokeVale: EMOKEVALW, EMOKEVATW, EMECKEVAOQ, EMEOKEVAKA, EMEOKEVATHAL,
émeokevaoOnv; repair
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dLeAéyovto: daAéyopat, daAéloual, ---, ---, ---, dLeAéxOnv; discuss, deliberate, converse
KATAALTIOV: KATaAelTw, KataAePw, katéAmov, KataAéAoma, kataAéAeupal,
kateAelpOnv; leave behind

neéofels: mEéoPug, -ewg, 6; ambassador

AT YYEAQV: ATIAYYEAAW, ATTAYYEAQ, ATIYYEAQ, ATUYYEAKR, ATyYeAual,
ATy YEAONV; report, announce, report back

énmvBovro: TuvBavopat mevoopatl, énvOouny, ---, ménuoual, - ; learn by inquiry,
learn

oLdeiaV: 0VdE(C, 0VdeUl, 0VDEV; no one, nothing

émomoav: Moléw, Mo ow, émoinoa, memonka, memoinuat, émoumjonv; do, make
TLOALOQKOULEVOL: TTOALOQKEW, TOALOQKTOW, €MOALOQKNOQ, -, ---, ETTOALOQKT|ONV;
blockade, besiege

Accent Drill. Place the correct accents on the following words and justify your choices.

10

11.

12.

kataAimtdvrog: 2nd aorist participles are accented on the first syllable of the participial
suffix.

ABOnvaiou: Nouns have a persistent accent (R1.5). A long penult, if accented, must bear
the circumflex when the ultima is short. Final -ot and final —a are considered short for
the purposes of accentuation.

épvyopev: Verbs have a recessive accent (R1.4). The ultima is short, therefore the
antepenult will take an acute accent (R1.4.1).

tv: Expected accent for the definite article in the genitive plural.

évdelwv: 1¢t declension nouns take a circumflex on the genitive plural ending (R1.5.5).
apuootov: 1t and 20 declension words with an acute on the ultima in the nominative
singular (an oxytone) will take a circumflex on the ultima in the genitive and dative
cases, singular and plural (R1.5.4).

éneokevalov: Verbs have recessive accent (R1.4). Ultima is short, therefore antepenult
may be accented (R1.4.1).

niotetv: Accented according to the rules of contractions (roléetv = motetv).

BaAattar: Nouns have a persistent accent (R1.5). This noun normally takes an acute
accent on its antepenult. Since the at ending is short for purposes of accentuation, the
accent may remain on the antepenult.

olrov: Circumflex accent (oitoc) must change to an acute because the ultima is long
(R1.5.3).

nomjoavteg: 1st aorist participles take an accent on the syllable before the tense sign (-
oa/-a) as long as the length of the ultima permits.

rniéppetar: Verbs have recessive accent (R1.4). The ultima is short, therefore the
antepenult may be accented (R1.4.1).

Translation Strategy Practice. For each of the following sentences, first read the entire sentence,
looking for sentence clues. Then translate the sentence. Pay particular attention to the participles
and determine how each participle is being used (see R6 for a review of participles).

ol toukovta Téppavteg eig Aaxedaipova Aloxivnv te kal AQLOTOTEANV Emeloay
AVoavdoov poovgole odiotL dovvat.

The Thirty, after they sent Aeschines and Aristoteles into Lacedaimon, persuaded Lysander
to give guards to them.
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mépavteg: nom. pl. m. aor. act. part.; circumstantial participle modifying ot Toudkovta
(R6.1)

2. AVoavdog toug peovols Twv ABnvaiwv amémepmev eig tag ABnvag, ddolg ékeloe
HOVOV Tolc TAéovoLy AoPAAELav, AAA0OL ' 0V.

Lysander sent the guards/garrisons of the Athenians into Athens, giving safe haven only to
those sailing there, but not elsewhere.

01doVG: nom. sing. m. pres. act. part. of didwp; circumstantial participle modifying
Avoavdgog (R6.1)

3. ol ToAKOVTIA AVaKOpLoavTes Tt TV E€Ew TOL kKataAdyov OmAa oLVEON KAV €V T Vap.
The Thirty, after they brought up the weapons of those outside of the citizen list, dedicated
them in the temple.
avaxopiooavtec: nom. pl. m. aor. act. part.; circumstantial participle modifying ot Totdxovta
(R6.1)

4. anoBvnokdviwy €v T moAeL AU MOAA@VY ot ABTvaiot oV dteAéyovto megl dlaAAayTc.
Although many people in the city were dying of hunger, the Athenians were not deliberating
about the truce.
anoBvnokovtwv: gen. pl. m. pres. act. part.; genitive absolute (R6.5)

5. ol touikovia VOV ouveAGUPavov ékelvoug ot fjklota magwOoVLEVOL AvelXOVTO .

The Thirty were now arresting those whom they thought were putting up with being pushed
aside the least.

napwOovpévoug: acc. pl. m. pres. pass. part.; supplementary participle with verb of
enduring (R6.4.1)

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. TEQL TNG TV TELXWV Kabapéoewe ovdeis twv ABnvaiwyv ¢BovAeto ovppovAevery.
No one of the Athenians wished to deliberate about the destruction of the walls.
AOnvaiwv: gen. pl. m.; partitive genitive (R3.2.2)

2. Emel 0 AVoavdog Ta €v T Aappdrw Kateotoato, EmAeL €mi 1o BulavTiov kat
KaAxnodova.
After Lysander settled the affairs in Lampsacus, he sailed/was sailing to Byzantium and
Chalcedon.
ta&: acc. pl. n.; definite article used with the prepositional phrase év ) Aaudie to make
a substantive or noun phrase (R2.3). The phrase translates literally as “the things in
Lampsacus,” but may be rendered “the affairs in Lampsacus.”

3. el Aboavdog idot tvd mov &AAov ABnvaiov, aménepmeyv eig tag ABrvac.
If Lysander saw some other Athenian somewhere, he sent <him> back to Athens.
dou: 3t sing. aor. act. opt. of 6pdw; protasis of a past general condition (R10.3)

4. oL totakovTa mToAAoUG pev ExOpag éveka améktetvay, TOAAODG O& XONUATWV.

The Thirty killed many men on account of hatred, and many men on account of their
money/wealth.
€x0oac: gen. sing. f.; object of the preposition éveka, whose object generally precedes it

5. Otav Avoavdog 101 Tva mov dAAov AOnvaiov, anomtéppet eig tag AOnvac.
Whenever Lysander sees some other Athenian somewhere, he will send <him> back to
Athens.
idn: 31 sing. aor. act. subjunc.; subjunctive in an indefinite/conditional temporal clause
taking the form of a future more vivid condition (R11.4)
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eV kataokapévtwv ot ABnvaiot évoplov ékeltvnv v fuégav t EAA&OL aoxewv
¢ éAevOeging.

After the walls had been torn down, the Athenians were thinking that that day was the
beginning of freedom for Greece.

nuéoav: acc. sing. f.; subject accusative of infinitive dpxetv in an indirect statement
construction introduced by évouilov (R7.1)

OL TOLAKOVTO KATEOTNOAV TAS AAAAG AQXAG WG EDOKEL AVTOLG.

The Thirty established the other offices as seemed best to them.

aoxac: acc. pl. £; direct object of katéotnoav

TIAVTEG T)OETAV TIVAG €V TH) dNplokpaTtia &ATo ovkopavtiag CwvTtag.

Everyone knew that some men in the democracy were living off of sycophancy.

Covtag: acc. pl. m. pres. act. part.; participle in a participial construction of indirect
statement after a verb of knowing (R7.2)

TV HAKQQV TeELXWV kabaleOévtwv ol toakovia 1)9€0noav tva Tovg vopovg
auyyodetav.

After the long walls were destroyed/had been destroyed, the Thirty were chosen to draw
up the laws.

ovyyoapetav: 31 pl. aor. act. opt.; optative in a purpose clause after a secondary main
verb (R9.1)

0 Onoapévng avtékomnte Aéywv OTL oK elkog €in Bavatovv TocovToug.

Theramenes kept resisting saying that it was not reasonable to put so many men to death.
ein: 31 sing. pres. opt.; optative in 6ti/wg construction of indirect statement after
secondary main verb (R7.3)

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what is incorrect, and write a correct translation.

OL TQLAKOVTA ATIEKTELVOV EKELVOUG HNOEV ADKODVTAG Vo XOTJHATA AAUPAVOLEV.

The Thirty were killing those men who are doing no wrong so that they may take their money.
Correct translation: The Thirty were killing those men who were doing no wrong so that
they might take their money.

Error: English nearly always requires a parallelism of tense. Since the main verb is a past
tense, all subordinate verbs are also in the past tense. In this sentence, ‘might’ is the past
tense of ‘may.’

el yo toig Aaxedatpoviols ot ABnvaiol urmnote Gidot yévorvto.

For if the Athenians never become friends to the Lacedaemonians.

Correct translation: May the Athenians never become friends with the Lacedaemoninans.
Error: Sentence was translated literally. This is an optative of wish (R8.4); note the clue
words el yao.

€L 1) 00TOL KOWVWVOUG tkavoug AauBavolev, advvatov av ein v oAryaoxiav
dlapéverv.

If these men do not take on sufficient partners, it would be impossible for the oligarchy to survive.
Correct translation: If these men should not take on sufficient partners, it would be
impossible for the oligarchy to survive.

Error: Protasis of this future less vivid condition (R10.4) was translated incorrectly.

0 Ay eimev Ot avTog tovg ABnvaioug eig Aaxedaipova keAgvol iévat

Agis said that he himself would order the Athenians to go to Lacedaemon.
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Correct translation: Agis said that he himself was ordering the Athenians to go to
Lacedaemon.
Error: keAevol is an optative in a 6ti/wg construction of indirect statement (R7.3). When
the main verb of the indirect statement construction is in a secondary tense, the verb of
the indirect statement may switch to the corresponding tense of the optative. keAevotL
represents an original present indicative.

5. gortv AVoarvdog 101 Tiva tov dAAov ABnvaiov, arortépet eig tag AOrvac.
If Lysander should see some other Athenian somewhere, he would send <him> back to Athens.
Correct translation: If Lysander sees some other Athenian somewhere, he will send
<him> back to Athens.
Error: This is a future more vivid condition, not a future less vivid condition (R10.4).



